AB[QIZIA & $37} 91
HA =2ix
=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

X
02

oy ot [> 3
H1 U pm A
on re =

3 [
ot

3|_|

i

o[>

o >=ou.m
ro

ot}

[>

[>

um

I

2

o> e
-

r

FST=k
= 1.4305.
4034,

LA
X
tol

i

A
il

od 2oy
Ikl

|, Bstx|x| k&
2|2 1.4305.
1 1.4305.

bal

i

7| 21 1.4310, 223

EMH OLR2|

A B HA:

&= ' Fst, oo, 24 43t %2
AHQIHA AE! HA

EZE Fs oot 2 =233

= E FE, oot Y SYI LXK LS

HH.

RIEA ZHXN = &M glof oFt &2 /xl2]
HE 2 L X|5HOF 5t= R0l AFS &

HX EEE & F OE &2 X2

olse = /US

7| 22 3¢ AZIHE 0|8350{ 3 EE9|

=]
RS A5 (Z2 23 &Moi)o| s shAL
FHolgol olaf &5 FHsBLICH
EE 70|7| 9ok 437 O HME
493 LAt g2lEo 08 52
2oz MolEls= &

|0

1> 0
>

HMIAME]:
A1 0|M & K0665

www.kipp.com - info@kipp.com 1/2



°
A ANES o = oi— AEISS A A
AHICIA E =371 Q)0 ERiX|I| i 2B =2 AH|olgA 9l
CllA =
A Z 25
=N
. b4
|
-
1 N
~l
iy i
Y : ' \l,
= ———
‘ v
A A
-0,02
LN D -0,04
Z= 29
== Hs Ef Q] B A= EH D D1 D4 L L1 AEE3 Fx30° AlF S25] FEHS
712 S| S EbAM 5= A3 F QM
F12. N F292.N
K0635.3004 T AE FZE 4 M8x1 15 40 21 4 1 6 12 K0344.90
K0635.3105 T AEl PEE 5 M10x1 23 52 24 5 1,3 5 12 K0344.91
K0635.3206 T AE Z#st 6 M12x1,5 23 57 28 6 1,8 6 14 K0344.92
K0635.3308 T A Z#st 8 M16x1,5 28 72 36 8 2,3 15 35 K0344.93
K0635.3410 T AEl st 10 M20x1,5 28 78 40 10 2,8 15 34 K0344.94
K0635.03004 T  AEQIEA A& A3 4 M8x1 15 40 21 4 1 6 12 K0344.90
K0635.03105 T  AEQIEA AEl Z#s5t 5 M10x1 23 52 24 5 1,3 5 12 K0344.91
K0635.03206 T  AEQIA AEl PEE 6 M12x1,5 23 57 28 6 1,8 6 14 K0344.92
K0635.03308 T AHQlE|A AR FEE 8 M16x1,5 28 72 36 8 2,3 15 35 K0344.93
K0635.03410 T  AHIQIEA AE Zst 10 M20x1,5 28 78 40 10 2,8 15 34 K0344.94
K0635.13004 T  AEQIA AEl HIZAS 4 M8x1 15 40 21 4 1 6 12 K0344.90
K0635.13105 T AEQIBIA AR HIZ3 5 M10x1 23 5224 5 1,3 5 12 K0344.91
K0635.13206 T  AHIQIEA AE HIZSt 6 M12x1,5 23 57 28 6 1,8 6 14 K0344.92
K0635.13308 T  AEQEA AE HIZA8 8 M16x1,5 28 72 36 8 2,3 15 35 K0344.93
K0635.13410 T  AHIQIEA AE HIZ3 10 M20x1,5 28 78 40 10 2,8 15 34 K0344.94

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



